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SID Lingua Inglese 1 Cohesion in texts: Connectors 

Botany Bay text:   using alternative linkers

Original text:

   ‘Australia became prosperous because of the wickedness of England’, someone said. What was meant by this? Simply that in the beginning Australia was a place to which convicts were sent. It was expensive to keep them in prison, so the government was anxious to be rid of them. Before 1783 they had shipped convicts to the American colonies. But the United States of America after 1783 did not want any more of these unruly immigrants. For a year or two they were kept in disused rotting ships on the Thames, until the suggestion was made that Australia, 12,000 miles away, would be an excellent country to harbour them. Captain Cook had sailed around the coast and discovered a place he called Botany Bay because the flowers there were so wonderful, and this was chosen for a convict settlement. 
   A certain Captain Philip was given charge of the first group to go there in 1788. After five months’ sailing they arrived at Botany Bay, but Captain Philip decided it was not suitable and went farther on and landed at what is now called Sydney Harbour. The term Botany Bay was nevertheless used for this colony.
   The government had shown little imagination in beginning this venture, however. Captain Philip begged for more supplies. He needed seeds, farm implements and food. Instead he was sent more convicts. After four years of unrewarding labour, Captain Philip retired because of ill health.


1) ‘Australia became prosperous because of the wickedness of England,’ someone said. (because = cause: causative)

Alternatives

a) As a result of the wickedness of England, Australia became prosperous
b) Australia became prosperous as a result of the wickedness of England
c) Australia became prosperous on account of the wickedness of England
d) Australia became prosperous owing to the wickedness of England
e) Australia became prosperous by reason of  the wickedness of England
f) Australia became prosperous by virtue of  the wickedness of England
g) Thanks to England’s wickedness, Australia became prosperous
h) England was wicked: for this reason / hence / thus / therefore Australia became prosperous
i) As England was wicked, Australia became prosperous
j) Since England was wicked, Australia became prosperous


2) It was expensive to keep them [the convicts]  in prison so the government was anxious to be rid of them. (so = consequence: causative)
Alternatives

a) Because it was expensive to keep them in prison, the government was anxious to be rid of them.
b) As it was expensive to keep them in prison, the government was anxious to be rid of them.
c) Since it was expensive to keep them in prison, the government was anxious to be rid of them.
d) It was expensive to keep them in prison: for this reason the government was anxious to be rid of them.
e) On account of the expense of keeping them in prison, the government was anxious to be rid of them.


3) Before 1783 we had shipped convicts to the American colonies. But the United States of America after 1783 did not want any more of these unruly immigrants. (but = opposition: adversative)

Alternatives

a) Before 1783 we had shipped convicts to the American colonies. However, the United States of America after 1783 did not want any more of these unruly immigrants.
b) Although  before 1783 we had shipped convicts to the American colonies, the United States of America after 1783 did not want any more of these unruly immigrants.
c) Before 1783 we had shipped convicts to the American colonies, yet after 1783, the United States of America did not want any more of these unruly immigrants.


4) For a year or two they were kept in disused rotting ships on the Thames, until the suggestion was made that Australia, 12,000 miles away, would be an excellent country to harbour them. (until = time sequence: temporal)

Alternatives

a) After being kept / they had been kept for a year for a year or two ... the suggestion was made that Australia (..) would be an excellent country to harbour them.
b) They were kept in disused rotting ships on the Thames for a year or two before the suggestion was made that Australia (..) would be an excellent country to harbour them. 


5) Captain Cook had (..) discovered a place he called Botany Bay because the flowers there were so wonderful ... (because = cause: causative)
Alternatives

a) Captain Cook had (..) discovered a place he called Botany Bay since the flowers there were so wonderful ...
b) Captain Cook had (..) discovered a place he called Botany Bay on account of the wonderful flowers there.
c) Captain Cook had (..) discovered a place he called Botany Bay owing to the wonderful flowers there
d) Captain Cook had (..) discovered a place where the flowers were so wonderful that he called it Botany Bay
e) Captain Cook had discovered a place with such wonderful flowers that he called it Botany Bay.


6) After five months’ sailing they arrived at Botany Bay, but Captain Phillip decided it was not suitable and went farther on and landed at what is now called Sydney Harbour. (after = time sequence: temporal; but = opposition: adversative)

Alternatives

a) They sailed for five months before arriving at Botany Bay, although Captain Phillip (..) landed at what is now called Sydney
b) They sailed for five months until they arrived at Botany Bay, however Captain Phillip (..) landed at what is now called Sydney
c) They had sailed for five months when they arrived at Botany Bay, only Captain Phillip (..) landed at what is now called Sydney
d) Having sailed for five months, they reached Botany Bay, except that Captain Phillip decided it was unsuitable, and [..] Harbour.


7) The term Botany Bay was nevertheless used for this colony. (nevertheless = concession: adversative)

Alternatives

a) Despite this, the term Botany Bay was still used for this colony
b) Notwithstandingly, the term Botany Bay was still used for this colony.
c) The term Botany Bay was nonetheless used for this colony.
d) In spite of this, the term Botany Bay was still used for this colony.

8) He needed seeds, farm implements and food. Instead he was sent more convicts. (Instead = opposition: adversative)

Alternatives

a) Although / though he needed seeds, farm implements and food, he was sent more convicts.
b) Rather than the seeds, farm implements and food that he needed, he was sent more convicts.
c) Despite the fact that he needed seeds, farm implements and food, he was sent more convicts. OR Despite his need for seeds, farm implements and food, he was sent more convicts.


[bookmark: _GoBack]9) After four years of unrewarding labour, Captain Phillip retired because of ill-health. (After = time sequence: temporal; because = causative - reason)

Alternatives

a) Following four years of unrewarding labour, Captain Phillip retired because of ill-health.
b) Captain Phillip laboured unrewarded for four years before retiring because of ill-health.
c) Captain Phillip laboured unrewarded for four years: he thereupon / then retired because of ill-health.
d) Captain Phillip laboured unrewarded for four years until ill-health forced him to retire.
e) Having labored unrewarded for four years, Captain Phillip retired on account of ill health. 


